EARAROBEEIERT — 2 N— IBISH —F

2012118308 (&) 18EI&&EESH

mm;c <8R B9C1 5% —M% \ (XM&] W \ [ERM]  — | & (&) 14000 68
[xE£] 1 %:190,000 2#%:34,000M” ~ 3#%&:13,000MW  47%&:10,000MH  5#%:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=t . —1-1- —_
1 3| TIATLLRY - 3 gégréﬂ% 1.(2_8).3 1-1-1-1 | 38.8 1 <4+918) Q;Egﬁ(%ﬁ@
L:T7Ivhty b BhHLyIk—-X FEKS
-O= 4 3 | SHEKX 1:29.1 3-5-4-2 [39.3| — 3 454 |TTTEAN (BHE)
2[1|1|=B7 122 6.0 (@) w) |BEs
LAY WY 4=y BIUETIUZR SIS
N REE_ : -8-7- — BHEE (BHE)
3l5l5| FE/ELY o4 =5 1.(350>.1 8-8-7-7 | 38.7 6 (4;8) iﬁﬁg
L:AMYIWNZZIH B:I9*X/FZXH— 25 IR
N w s NUEFT :30. —7-8- . = Bt (BHE)
4 o |Framyny it 4 Isio T 1(33/%2 7-7-8-5 | 39.1 8 <4+320) Zﬁé;
R:FaTEN BN I E—T HRERHS
S A #H o6 | REEF 1:30.5 9-9-9-9 [38.7| — 7 458 | EHEE (BHE)
5178 HZAF— 56.0 (1 1/2) (+8) Eﬁi;ifﬁlg
R:ZFXv> B:riH¥iniLsh pNs%e ]
N N R FLEFRER :30. —6-5- . — Sy (BEE)
N MR LT R Gan | |0 e | #mee
R:F7ITrAExA4> B:T77—Lxvy b (/) HEa-KL—Ya> AET7
. R HLE— :30. -4-6- . — ROFEE (BHE)
7lglg|FrLIXF— G e (11310/27) Aes 408 ° ?:17) KRt
R:ZZAHNZAZH B:HrL1F¥eF [EEEsgsed
— e KIEAEE : —3-2- — SEBC (BHE)
8 6l FLTH Yy 3 Py 1(.33/%9 5-3-2-3 | 41.1 2 ?5;1 i
LTITRIXFTLIL BFLTYEE A AR B
c v s = : FhEH :31. -2~ . - ErB—8 (BHE)
olgliol X1 H 71 > 3 R 1(351)9 2-2-2-8 | 42.2 9 <5+119) A
L2V IdHF— BEXHUTLTa HRR= WRHEKS
¢ 2 4 3 | DNEEAIE 1:33.0 10-10-10-10{ 39.8 | — 9 428 | KREHFA (BHE)
1007|7774~ 57.0 5) o | @ A-zr7
RTTAFa =TT BA—Z&%)— HF5
® 1—F—@EBIERL
1T=7r= 3,10,1,9,6,4,2,5,8,7
2a=5F= 3,10,6,9,1,4,2,5,8,7
Ja=5= 3,(6,10),1,4,9,5,2,8,7
43—+ — 3,1,6,4,2,9,5,10,8,7
[ N5
B 3 110 714K 1-3 210 e E 1-3 520 JEE 1-3-5 2,670
B B 3 1004 &= 490M B = 1-3 480M EE == 5,360
1 1504 1-5 1,340H B H 3-1 540
5 370M

ABICOVWTRDTEEERROODE. TR LIV,




